Sabre FD Standard Parts List

Picotech's

Description in English

Kit

Chassis

PO-SCHOO3RD

Aluminum Bulkhead RH & LH Red

PO-SCHO26RD

Aluminum Bulkhead Cover RH & LH Red

PO-YMO0001 EVA Bumper

SK-CH1001 Bumper & Body Post Set
SK-CH1002 Body Post Set

TC-PMNSO01 Battery Brace Set

TC-PMPSO01 Servo Arm & Mount
TC-SCHCO001 Sabre FD Main Chassis 2.5mm
TC-SCHCO002 Sabre FD Top Deck 2.0mm
TC-SCHCO003 Front Damper Stay
TC-SCHCO004 Rear Damper Stay

TC-SCHO07RD

Sabre FD Front Bulkhead RH Red

TC-SCHO08RD

Sabre FD Front Bulkhead LH Red

TC-SCHO11RD

FD Aluminum Bulkhead Cover RH & LH Red

TC-SCHO012RD

Transmission Mount Red

TC-SCHO13RD

Sabre FD Sevro Mount Red

Drive Train

TC-SDTO015BK Center Gear Shaft
TC-SDTO016BK Spur Gear Shaft
PA-SDB224 2.4mm Diff. Ball Steel (24pcs)
PO-SDT109 Diff. Hub Set
PO-DT1001RD Diff. Joint Ring Red (2pcs)
TC-SMASO01 Gear Set

PO-PTB602 Thrust Bearing (2pcs)
PO-DTO0008 Diff. Screw (2pcs)

ZS-506 Diff. Ring (2pcs)

ZS-508 Diff. Spring (2pcs)

Drive Shaft

TC-SDT017BK

Axle Shaft (2pcs)




PO-DT0011

Anti-Slip Universal Pin (8pcs)

PO-DT1004RD

5.2mm Hex wheel Adapter Set Red (4sets)

PO-SDTO09RD

Al. Universal Bone 46mm Red (1pc)

PO-SDT018

Axle Shaft (1pc)

PO-SDT019

Locked Universal Join Set (1pc)

PO-SDT021RD

Al. Universal Shaft Set 46mm Red (2sets)

Ball Bearing

PA-SBO80SF Flanged Ball Bearing 5 x 8 x 2.5mm (2pcs)
PA-SB0805 Ball Bearing 5 x 8 x 2.5mm (2pcs)
PA-SB1005 Ball Bearing 5 x 10 x 4mm (8pcs)
PA-SB1510 Ball Bearing 10 x 15 x 4mm (4pcs)
Suspension

TC-PMESO1 F & R Suspension Arm (each 1pc)
TC-PMFS01 Castor Block - 4 (1pair)

TC-PMGSO01 Steering Block & Rear Hub Carrier (each 1pc)
TC-PSU001 3mm x 23mm Hinge Pin (2pcs)
PO-SSU007 3 x 45mm Sus. Pin (2pcs)

4111R-P4351 Sus. Mount 0 deg. Red

4112-P4351 Mounting Ball (8pcs)

4215R-P4S1 Sus. Mount 2.5 deg. Red

TC-PCHO16RD

Standoff Post Red (2pcs)

Shock Absorber

TC-PMMS02 Shock Parts

TC-PMRS01 Shock Piston Parts

TC-PSHO002 Shock Bladder (4pcs)
PO-PSH002 Shock Teflon O-Ring Guide (4pcs)
TC-PSHO007 Shock Shaft (2pcs)

TC-PSH101RD

Shock Body Set Ver.2 (each 1pc)

TC-PSHS01RD

Shock Set Ver.2 (2sets)

Shock Spring
PS-TR15600 Gamma Spring (14 x 1.5 x 6.00) 344gf/mm, 19.2Ib/in
PS-TR15650 Gamma Spring (14 x 1.5 x 6.50) 306gf/mm, 17.1Ib/in




Steering

TC-SCHCO005

Steering Mount Plate 2.5mm

TC-SCHCO006

Steering Plate 3mm

TC-SCHO014RD

Steering Post

Linkage

TC-PSU005 3mm x 30mm Tie Rod Steel (2pcs)
TC-SLK355BK 3mm x 55mm Tie Rod Steel (1pc)
PA-HBS003 5.3mm Steel Ball (5pcs)

TC-PMHSO01 Ball Cup 14.5 (8pcs)

TC-PMHS02 Ball Cup 18.5 (4pcs)

Accessores

PA-AT0001 Antenna Tube (4pcs)

PA-AP0001 Aetenna Post (2pcs)

PA-BPS3SV Short Body Clip M6 Silver (20pcs)
PA-ER0020 M2 E-Clip (30pcs)

PP-010320 Oil Mixed O-Ring for Dampers 30° (10pcs)
PM-OR1004 O-Ring 4x2x1mm (10pcs)

AW-BW31RD Small M3 Bevel Washer Red (10pcs)
TC-SLB0O1 Sabre Decal Sticker

Shim

PA-100406 4 x 6 x0.1,0.2,0.3mm Shim (each 10pcs)
PA-100507 5x7x0.1,0.2,0.3mm Shim (each 10pcs)
PA-100810 8 x 10 x0.1,0.2,0.3mm Shim (each 10pcs)
PA-101215 12 x 15 x 0.1,0.2,0.3mm Shim (each 10pcs)
Spacer

AW-S050RD 3mm x 0.5t Collar Red (10pcs)
AW-S100RD 3mm x 1.0t Collar Red (10pcs)
AW-S150RD 3mm x 1.5t Collar Red (10pcs)
AW-S200RD 3mm x 2.0t Collar Red (10pcs)
AW-S250RD 3mm x 2.5t Collar Red (10pcs)
AW-M200RD Ultra Wide 3mm x 2.0t Collar Red (10pcs)
AW-M5050RD 5mm x 0.5t Collar Red (8pcs)
AW-M5100RD 5mm x 1.0t Collar Red (8pcs)




Screw

PA-BM2506BK

Button Head Screw M2.5 x 6 (8pcs)

PA-BM0306BK

Button Head Screw M3 x 6 (10pcs)

PA-BM0308BK

Button Head Screw M3 x 8 (10pcs)

PA-BM0310BK

Button Head Screw M3 x 10 (10pcs)

PA-CM0306BK

Countersunk Head Cap Screw M3 x 6 (10pcs)

PA-CM0308BK

Countersunk Head Cap Screw M3 x 8 (10pcs)

PA-CM0310BK

Countersunk Head Cap Screw M3 x 10 (10pcs)

PA-CM0314BK

Countersunk Head Cap Screw M3 x 14 (8pcs)

PA-CM0316BK

Countersunk Head Cap Screw M3 x 16 (8pcs)

Nut

PA-LNOOM2 2mm lock nut (5pcs)

PA-FNOOM3 Flat Nut M3 (10pcs)

AW-LNF4RD M4 Aluminum Flange Nylon Nut Red (5pcs)
Set Screw

PA-SS0303BK

Steel Set Screw M3 x 3 (10pcs)

PA-SS0306BK

Steel Set Screw M3 x 6 (10pcs)

PA-SS0308BK

Steel Set Screw M3 x 8 (10pcs)

PA-SS0310BK

Steel Set Screw M3 x 10 (8pcs)

PA-SS0312BK

Steel Set Screw M3 x 12 (8pcs)




